50, will be treated as malpractice.

onal cross lings on the remaining blank pages.

aluator and /or cquations written cg, 42+8

1to ev

answers, compulsorily draw diag
cntification. appea

ofid

. Any mvealing

Note: 1. On completing your
]

Important

18C1V14/24

Time: 3 hrs.
Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.

&

C.

First/Second Semester B.E. Degree Examination, Jan./Feb. 2021

Elements of Civil Engineering and Mechanics
Max. Marks: 100

2. Missing data, if any, may be suitably assumed,

Module-1

Explain briefly the scope of following areas of civil engineering :

i) Irrigation engincering

i1) Environmental engineering. (10 Marks)
What are the roles of civil engineers in the infrastructural development of a country?

(10 Marks)

OR
State and explain basic idealization in mechanics. (06 Marks)
(06 Marks)

State and prove law of parallelogram of forces.
Two forces acting on a body are 500N and 1000N as shown in Fig.Q2(c). Determine the

third force F such that the resultant of all the three forces is 1000N, dirccted at 40° to the X
axis.

4 4

e gl

N
rSC‘O

]

rl ~ 400
sl

Fig.Q2(c) (08 Marks)

Module-2
State and prove Lami’s theorem. (08 Marks)
Two identical cylinders. cach weighing S00N are arranged in a through as shown in
Fig.Q3(b). Determine the reactions developed at contact points A, B, C and D. Assume all

2 C1
B 3
T
G 2
Fig.Q3(b) (10 Marks)

List the equations of equilibrium, (02 Marks)
lof3

points of contact are smooth.
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OR (04 Marks)

(06 Marks)
ement shown in Fig.Q4(c).
500N and weight of block

4 a. State the laws of dry friction.
Explain the types of friction.

c. Find the force p just required to slide the block B in the arrang
Find also the tension in the string. Given weight of block A =

B = 1000N. p = 0.2 for all contact surfaces.

Fig.Q4(c) (10 Marks)

Module-3
a.  Explain with sketches different types of loads.
b. Explain with sketches different types of supports.
¢. Determine the reactions developed at supports A
Fig.Q5(c).

(04 Marks)
(06 Marks)

and B of overhanging beam shown in

h

JA0kW

AOkM M- ’/, 20KkN[m
4% 0
A - _1xng;;n
.‘_.__ am <_T- Qm ‘T_jm_l_ < M _1_

Fig Q5(c)

(10 Marks)

OR
6 a. Listthe different types of trusses. (06 Marks)

b. Analyse the truss shown in Fig. Q6(b) by method of joints.

JfL L

e ._?L’b‘ ~.
Sm -_{:.-

10 me = S

7

Vy Vi
Fig.Q6(b) (14 Marks)
Motlulg_--l i o e
7 a. Determine the centroid of a semicircular lamina from the first principle. (08 Marks)

b. Locate the centroid of the lamina shown in Fig.Q7(b), with respect to axcs l—1and2-2.

@
7 —+~t oo _/Tajoof.
’F
inoo /
L —®

@L}___
&

Fig.Q7(b)
20f3

(12 Marks)
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b.

10 a.

18CIV14/24

OR
State and prove parallel axes theorem. (08 Marks)
Determine the moment of inertia of the symmetric l-section shown in Fig.Q8(b) about its

centroidal axes x-x ad y-y.

il - 20D mme__ F_L
= .~ ] 28mn

T
2
— — T mm
J50 M-
L - —— C 3 v ] 9 mm N
—4— woo™m L d -

Fig.Q8(b) (12 Marks)

Module-5

Define the following :

i) Projectile

ii) Trajectory

iii) Time of flight

iv) Range.

A projectile is fired at cert
reached is 500m, what is the angle of elevation of the canno

velocity of the projectile?
leration of 2m/sec”. A police van came after 10 sec and

A Burglar’s car starts with an acce
continued to chase the burglar’s car with an uniform velocity of 40m/sec. find the time taken
(06 Marks)

by the police van to overtake the Burglar’s car.

{068 Marks)

ain angie has a horizontal range of 3.5km. If the maximum height
n? What was thc muzzle
(06 Marks)

OR
State Newton’s second law of motion and D’Alembert’s principle. © (04 Marks)
A lift carries a man of weight 4000kN and is moving with a uniform acceleration of
3.5m/sec”. Determine the tension in the cable when :
i) Litt is moving upwards
ii) Lift is moving downwards.
A car travelling at a speed of 75kmph applies brake
Determine :
i) Deceleration

ii) Time to stop the car
iii) Coefficient of friction between road and tyres.

(08 Marks)
and comes to a halt after skidding 60m.

(08 Marks)

* %k % Xk %

3of3
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Ans :

KLS's VDIT , HALIVAL,
Dept. ¢ Civil Enainee&?na‘
Elemenls % Civil Ema:neaio% ard Mechanics.
(18caviafe4)

Scke me and Solu\-\loo

Module 1

Explain bfr',e_%)\td the  scope C?) ’FOHOuoir‘)a aveas
c‘) civil En%}oeca;na.

it Irrfra%ohor) Ena:r)e%-oa

iv. Envitonmental &ameexaa

e ]Tw;acﬂn‘on Enameex;n
Tw:aojriom mcud be de{)'.r)ed\ as dhe
| process éD sLLHsla;rxd vookee Yo e soil o

'TCUS?ﬁa the cYops ba
i ot J'usk Lmited 1o opPL‘ca’rioo c% wakey
o SOi\ bu} O&SO vOCl&CA\S’hecg Qnd Qaq;wl{-u"iai

j!,;mm_ 1t Seals with he dez:an and. construchon
q} ol wotks . such a3 dams, weirs, bead

“re%u\o‘ro&s elc.
The  scope db lfm'.%odn‘on &3820661;08.
divided o Hwo beads. -

con be

Scanned with CamScanner
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al En%mewrﬁg Asjo.ec%
This deals woith.
1) S’ro«mae c% voakex btf Cooshuch‘ng dam as.

NeSEVDLT .

2> Diversion dD showed wakes to canals for
diskribution

3y L'L#hna c%) woakey bU dh‘caarog welle and el
Yo small channels.

A Corwe%ome db voakes  Jo aarrfcul’ru'mi Frelds
ba Some  suitable  distribukon Saﬂ'ﬁm Like
#loo&‘.oa . forrvow , sprinkea and drip.

i'T"r'.a(l\"iOD.
s ZDeveTopmeo)c dD h(d&&oelechfc povoes. |
¢). Drainage and 'fe\?evtoa the wakes loaazng,
Yo maintain  high pfod\uchv:hd % canal. |

by B%«rccu\hmn& Hspecjr-

This deals voith |
> Dishribukon db wales uo.’ﬁmm%’ and pﬁﬂiod;ca\ld

1o maintain propes depths % wakey fos Cvops.
0y C_QPOUH@, &b differvent soils Hor f-frfr.tdox%‘on

poa.*@ ! ;
. 3% Reclaimation c?) waste and  alkabine londs.

—
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l'Qv

Ly Enwvironmentol En?jir)ewng |

Prropes diskribuhion % waker Jo  Musal
auos , fown & ches and disposal d, waate wadtes
and solid waste aw anothe feld dD G vil Engg.
Tndustriabisakion & incvease in vehiculos %m%i’c,

o creakin QB po“u‘n‘or) p“noblems, Envwor)meo{'aﬂ

m%mwmg vohy; Le ’toc\ci:rg oll Jhese problemns va;du
Beo%bl environment 1o Pub\ 2.
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Whot ove dhe oles c% Civi eoa':r)eeﬂs in the
infvastructuval  developrment @E a courﬁﬂd?

| A civid enginees heas to pla_g a very tmp.
vole ba lookjoca into  dhe public needs %o:ib
gheltes, woates S“PPlkl o &r;oho% cmd,i"r*ﬁa
JD eropg , Seweage ’tfmnspo"r’ccﬂw‘oo . enagy
and  disastes proteckon | which forms the basic
tn?)w*ashuc’rwnﬁ demands &D Hhe soc,iehd buk
keq:)ir)% owy social and culhnal he;ultcnae. The

Yolp

Vavious Jo‘os to be p@%mrme& Qe .
. Cavil @nameu takes up the conshuckon

sector job.
% He should be competent 0 dhe verious

fields c% Guwewdir)a , pbm;na , aﬁhdsma ,
d@gﬂ,anina ) ESHmln‘Da . Sle)edlﬂir)a, execujn‘or)
iDSPec\n‘oo and maintanance cb work .

3y He plans the b\,u\dm(as, lmoms , cikies,

recreakional cenbves .
4y He builds  shruchures like bujlc\q'r)ﬂ , dam,

bfr;dau . vesezvoiag , tunnels ,“rajluooud@
bas bouss  efe. |

5% He builds voakes pwuﬁad;og untke and
diskribules wates  for dw:nbna puspose.

—

Scanned with CamScanner

[o])p)




Sa. Stake and e,xp\a.‘o bm;c idealizations in mechanics
Aos:  Basic dealizatons in mechanics  cse
iy Paskicle — 1t is dd?)meci ai an O“Zfeclc vohich
baus onhd MOLSS but nro size. Such a bo&d
cannot  exiat %eove\-icaﬂa . Houweves whtle
@\eoﬁm% with problems mvo\v;r)a distances

consz&mb\bg loscres voben ccimpavred o dhe sizo.

d, e bo&xd , the size dD the 'bochd rrouy be
r)e(a\ech&% VOIH)OL&/ socv.‘ﬁic;nﬁ accuracy.

8y Continuurn — The bodud s assumed 4o consist
of o contiruons diskribukion G’) motte. i€, The
b@dud i3 treated ou conkipuum. The concept C%)
contipuLm dDb@ch enables w o Samp\:ﬁva The
problems in engintening mechanics

3r 'thatci boobd — It s debmed 03 Q bod:d o
which the  relakve posikone % any two
poaticles do ot change under +he Qchpo
d the forces.

2% Point  force — The contact awma s i‘anorred

compcmed o othex dimensions -tnvolved .
B

—_ ll/z’%
A | ==

Gro-
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Ans:

| Stake ond prove lowo db pam\lelo%mm c?)ﬂeorrcex,

[ & ]

Stotement :

T8 two forces 0.(1\1"08 Stmuljccmeouuta
on o boc\;d ot a pom’c Qe wepxesm%ecg_. dp)
moxamjrude and divection bH the two &&Jacer)}:

sides dya p@m\\e\ocamm Aberr  vesullant  is

‘TQP'TESQD\'ed n ma%mjrude and  directon bb’

the gdjaeeﬂ)e cﬁio%onoﬁ cﬁD the pawrolldo%fram vohich

PasSses 'Pr)'fou%h the Pom"c dD iokeesection C%H‘)e |

bwo sides TEP'resen’n‘n% e Aovces.
D C

4 RB E
leb P, &F, be the two Loyces, © be the

(108\6 hebween Them . . :
Qcco'f&‘nca to lawo 0?) Pm&\\e\ocdrmm (% Yces,

l
R = AC |

:ml | ' !

= J(pa+8EY + CE”

AR = F,
RE = BCCOSO = F, oS ©
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CE=BC SiN® = [LSin®

R= | (F £, cose)” + (Faine)

: N T
:JP,1+&F;P2COS® +F21COS © 4+ £, 8iN°0

R =ﬁ,l+amﬁ;cosc9 +6

fand = CE_ - Fsine
RE F, +F,COSO

o = Jt(:m—‘ Pis.zr)@
£, +F,COSO

Paghiculas cases

S Adben ©=90° = R=\ AR
iy When ®=0" == R= Hth.
&y When @180 =7 R* £ -F

Two  forees ac)n‘r)a on @ b@&d Qee 500N and 1000N
as <hown in ﬁq‘cd. Detesrnine the thivd force £

such thad Hhe vesultont  of Al dhe three forces
's 1000N , directed ab. 40" 4o dhe X -awis
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Lot 4he thivrd foxce make on antale e with

Ans?
X- QWS

Rcos ol = =Fx
- 500 ¢0S8 30 -+ 1000 c0S 70 + Fcos®

1000 COS 40
Fcoso = —8:98 N —— 0)
Bsind = :>:Rd

1000 Sin40 = 500&N30 +1000 an70 +FsinG

| Fsipe = —546-9 N — @
®+0
Yapo = 60-90
o = %9-05

- —546-97 N
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3.Q.

Ans:

Tj\fod&ﬁe 02

State and prove Llamie theorem.
Statervent : ‘

£ o bgdﬁ s 0 eq/uu\ |
ackon c%) 00\‘(1 Wyree  Horces, each force 1S
prropotsHonal to dbe Sine dD 008{6 between
fhe ofher two forces.

doriumn  unde the

PI :——E)—"—— :__?_‘5__——-
Sind Smg gy

’De"rwq’n‘oo 2

Drow - The

Mree Forces F P & F5 one

Q%\’_QSI Me ofthex 0 diveckion and moﬂmeude
Fom pomk ‘o Sice the bo&a e N

S’cm\w‘oa
eqp.j\ib’ﬂum, the esultant should be zeso , vohich

rmmeans  The poao‘f 033 contact "fonrce o\taﬂwom
chould  oincide with a.
10 Yhe A abe.

&b:P) Py bC = Fj_ , CQ: F\S
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P:Pp\tde‘r)a the sine wule,

ab _ _be _ _ca
anCigo-o)  sin(Cigo-p)  Sin (1go-7)

P' F:. ra

-—

Sin ol Sin 3 "sin¥

3b. Two Ider)kcol CH&mdw, SEOLC}) we:ah;na SOON

ae mmronaed in Q n“rwouah a3 shown in %8.

®e¥@m;ne tHhe vreac’n‘oos deve\oped Q‘r cor)}oclr

@om¥s AB,C §D. Assume all potn% chontad
oxt Smooth.
D4
Sol:  FBD P
| R
\ A%
Re _ X
- -~ -
— // ____)_ GOON
a8 Tp
Re
N/
500N

1
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Sgheﬂe 1
ZK Us;oca lami ¢ Hheorem
Ra _ Re _ 8500

— - - .
sin(ao+30)  sin (0+60) 8iNA0.

Ra = 433-01 N.
PB = Q50 N

Spheve 2.
Ul?'rr)ca eq/ua%‘oog O)) eq/ujjib'ﬁurf)
SFtx =0
Ry — Re co0s 60 — Rg cOS30 = O —

EP\/:O

Ro&iNGO ~ RKeSin 30 — 500 = O

= R.=T7&1-68 N.
Rp=5TT7-34 N

ch. EquO}TODS %eq},u\ib'rium_

Sol”: | — Coplancs concurrent  force S«dsjcem
S Px =0 , Eﬁdﬁo.

— Coplanos nonconcurent  force Stdskem‘

= S M =0.
SFy O , ERd O ) M =0
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4 a

Abas:

b

Ans:

State the daws c?) dmé fvickon
Lowos aD dmd friekion.
s The fickonal force a\mﬂs acts in @ divechon

ay Till the &jm;hna volue 38 reached , the

1o Achon beas @
3y The ma%n‘\‘mde the &umsnna ch

45 Uhe forrce dD'Ff.'cHoo d&Peochs L,LPOD the 'muanﬂrs .

| q .
5y The force Q}D Feichon s todepﬁodﬂn% %

Exploio the vkdpu e% Frickion |
v Stakic $eichon '

£ich " bo

IH Jinihn chion , 1he d.a
e e :: e:res‘c cmAa such frickon 18 ccl\\eci
rerpains

. 9
stohic neﬁc’rior) which will have ODH value be

7e3.D and ltmih‘nﬁ ﬁeﬂc}ion.

OppoSt le 4o Hhot in which +he bodhd tends fo

mOoVve -

ma%o-;lrude dofﬁ')e Prichonal force g dexoc’clbg
ecvu(ﬂ ‘o Hhe -Jtcmaer)jn‘ol\ *?OTCe vofvi’c]r) ’fer)ds +O.
rove The bochd.

constant  ~okio to Hoe mormal FeaCHON behﬁem
Hhe o cor)kadma &u%acez_

o3 Smoothness C%Jrhe sug%lce,z,

aea JD C@D{aé’r behoeen the two Susdbacc(s.

hen fhe opplied fongeshia) force 8

'_‘

® 7
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iy (chdr)G.miC frickon
T4 +he value % o.ppﬂjeci Jconﬂeoh‘ai
Pyvce. exceeds dhe Lm:%‘ng frickon , the bod-nd
stasts moving  ovel anothes b@dﬁd and. Hhe Frickional
~esigtance exPeg,;e,r)ced while mov;na 1S kDQLOf) a3
TDldnorolc frichon.
—. S\id‘.ng feckhon
Tt ss the Frickon expwer)ced bl(’f Cl,bool.clr
when it Slides over etbes b‘”dﬁ‘
= Po\\:r)ca Prickon
Tt jsthe frickon expeﬂjeocecﬁ btzr abodg
when L volls over anothex boc%»

Ppd Ahe force P J'usk ﬁrecpuwec\ 4o slide the
Bock B i dhe wﬂgn%eme_ok shown in rﬁw‘a.ﬁnd\
aleo the tension in the Sh;na. Biver vg@ah\: %
Wock A = 5oonN and Loej%\o't cb block B=1000N,
w=08 foa ol contact &w%&cez,

8“:’1‘:03

N /_BQX
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T

3
o
2
i
o,

&,
Iooor\r':(Nl 7\@.
c<—  1000N.
R
'S
’\N, !
sooN. Block -
=Fx =0:

el TN ) £ 7=

N

Tcos 30-—Fo =O. —> TCOS30 — 0-A N, =O- —@

P:O.
=

TSinao —500 +N; = O. "’@

From (D
T = O QN>
COS30:

Subs%"ruhr)a in (2)

O-QNs
COSA0

AAB-O4N
29-G5 N

N

= N,

>
T = 103-52N

)]

xSIN30 —500 + Ny=O.
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looo N block

' prv =0.

46 -F20
Eﬁdﬂfﬂ
N, =N, — 1000 =@
Ny =1442.24N.

Fi = Q89-65 N
F =379-Q9N
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Module 03

Explain woith Skejcche,s diffevent '*'ldPﬁS c% Qoo;h.

THpe) C% .»QDOLCL}:
> Concentvoted doad :

TE o doad s QCH”% over Q V&ﬁ sroall
len%’rh Conopomﬂed to span dD_"the beam, it is

considennd s Po:rﬁ Joad .
L
T;——a“f‘ ,\\
o> Dnzf}owm\a dichbuted Joad.CopL)
A Jeoad which has cao% same ir)‘ceos;)ra

over o cons:desable [eoa’rh o called as LDL.

Vo kN)m

\;Uo kN‘rﬂ,
fa&&v\- JT ’l‘
3>_Unc%rrmhd vasying Joad (LVL) |
4 dbe m‘ceosﬂ-a dD de Joad inCreases

,L‘r)eoa\td OL\OD% -\er)a%, i‘: 38 COM-EA os LVL.

1/"’0 \LN\N)
4,——4@——‘[
A— —

o 0.8

4%y Benesod &Da&‘ng 5% Extesnad momen
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Ans:

: Exp\o.‘nr) with sketches diffeaent "‘Ldp'ﬁ.z c{)su]opo'r{'s.

Tl_dpu (%SU.PPO'Tk

g S;mp\e Suppo’r’c _
The end. é})”’he beom 'YES%S Q*mpla on o..

“rcdci Suppoﬁ The veachon is dwmds normal 1o
Hhe Guppofrjc These 18 N0 moment vesistande ok

GUPPO’T ‘:

o

2% Rollex auPpmk -
The beam end i Suppow{e& on ~oleves, The.

creaction i normal Jo 'Hﬁe suvppmir. The enda
Qs 'g(ee ’b ’TDlCQ&‘Q
A 7%‘)’

3. Hm%ed /'pnr}ed SuproY b |
The poshom SD‘Hoe end. (%‘H')e beam s ﬁlxed

buk free 4o votale. At such &uppoﬁs the ~eacton

]

I
|

can be in any Quivechion which s u&uaﬂﬂ 'W_Pwe&er)‘ffd |
b‘é it compooe_o’rs 0 hwo mu)uahﬂ 17 divechons.
Ra .

T 2 Vi

Ay Fixed SL,HOPOT}('
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e —— 4

\

ay Fixed Su.Ppoﬂ_- .
The bearmn ;s Neithes peszm;H-e@ to move in

any diveckion por allowed Yo votale .

M
__:@_,‘
Ho
*Vn .

Detesmine  +he  reockons deve\opeé ot Gu_ppo*ﬁg
P §B o% ovcv\rnoa 308 beam shown N %8

30kN.
AOkNm . ‘/ 20 kf\]lm
s VAV V. VAY)
s T %
—am : 210 ‘: |mif 2.,
R
l | | |
| - 1
HA } ! aowSAEL; | \]/ I
> \ Jl' S i . T
Rp.
\m’ : /I\ 8 |
L |
L m .

SPy O
4. ~30C0S45=0 = Hp = a1-91kN.

SFu =0
d
Vp —308iDAS +Ry —40- = 0. D
SM 420 |
AD + CBOSI‘DA.S 7{5> — CP-B XG) +@‘O x-—,) =0

R = T1-071 kN,
®=. v, =9.79 kN
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6. a.

Ans :

List diffevent 'Hdpez % trusges .
Ttdpa G’) tvusses .
b 'Pujbec% bruss .

B pin jointed truse wohich has 80{ jusk
s%weo{ nLmbee dD membegs do yesist Hee Joads
without m&@%omg appreciable debmmaHon N
Shape is called o Pe,qfe& bruss.

N Mm-S

2> 'De?)icieolc hugs
The numbex % membess 0 bruss ave lese

thon thal vequived for a pelect buss. Sach

brusses cannot  wetain theio shape when loaded
' J

3+ Redwndant buss.
The numbes OPJ members in 1t awe more
Han thak 'Teq/Lmr“eoq in p@%ﬁcf bruss.

e
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Gb.

Anoﬁxdge He trues ghown in 4318 bL(f rethod

% J‘D { D%S 5‘(7\\

Sfx =0
E_Pta, = O
Vﬂ—}_vi’_ = “kN
EMQ = 0.
(5+5coge0) + (6x 6.as) —(V, x10)=0
V, = SkN
v, =6kN
Joint D
{(:9 /'\\IQ/ V)_ = TCD - TDC—
| Sina0 Sipr 1o SineOo.
y, 20 I TC,D = ——lO‘(N
= Tpe = 866 kN

SFx =0 .
—Tep COS B0 — Teg COSGO-
TepCcOS30 =0
Teg cOS30 + Tegcose0 = —2-66 —(1)

Scanned with CamScanner
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EF‘H =0.

Teg Sin30 — Tee Si0 60+ Tep SiN30 — o =0
Tep Sin8D — Tee Sin6O = — | —@

&)lvma OREEY,

Teg = —1-99 kN.
Teg = —3-46 kN

Joint €

Teb.
Tee
2 o’ 60
The

> Tpe

=6 =0 |
—Tae +T%.DE - Tegg COS 60 — Tee COSGO =0

TBE- +TEBCOSQO = 6-93.

Z% =0

+ Tep S0 60 — Teg 86O =0

Tea =38-46 kN '

Thpe = 8'45\(N'
Joint A
' TaB. ZFx =O.
Il TAE ’\'TABG_OSGO = 0.
£0_ - Tog = ~12-86 kN
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Module 04

Detarmine +he centroid c%a semicieculag lamina

Sxom the Prpst pm‘:r)(:;p\e.

—> X

The elementa) asea f‘DOJZf be twveated as a
'Techr)a\e ch?c\ez +deo and dw.
.. Area c«f) element = ¥.de-dr

Morpent abouk its diamebvical axis

v Ao x A~ s TSP = ~*ginp©.dv.de

To'td} momenk db QTrea abou& O&Jomek'*r:caj QNS

m,R Y 'T3 R

S S 'Tlssr)@.drr.de= g [’B—JO&D@'d@
o

O

0

Preo. dD semiciacle.

Q:t/a(ﬁ_gz‘
g: &93/3 ~ i&
TR ad
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1 b.

+he CenHo;d C%)'H')e lamina &hown in oeia.

pNel

Loca‘ce
wat
® 1@5 — T
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8.| State and prowe pavallel ass Hheorem

Ans: Sfcfremer)’c 3
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Module 05

AQa. 'D%tr)e e rﬁo\\owina :
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Q. b.

Aos .

A p'rojechle iS ﬁ'mrec& -ak cukq;o cmate, bos a-
o) wonge Gy 8o, 11 the max height
ceached is S00M, what is the onale 0}3 elevation
O‘f) e ocannon? What was the muzzle velocjla

o zont
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Sin o 9

1000 SiP&d:
Sin*d
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Sindl

oo = Q@975 ‘

Cu= 199.62 mfs.

A Busca\o&ra cas closts with on accelevabion c?)

am|s® . A police van Came o%tej losec  and
Cor)houea to chage Hhe bwﬁlm'& cay with an

unform ve\oc;Jr%f di)ﬁwm)s Bnd e hme taken
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Ans: | Pelice van.:
L= 40m}s.
s=ut =40t — 0
u= 0
o= amls
Dist keavelled n (t+10) sec.
S=uk+ l/oel at?
=04 ’/a AQ X C’c-HO)2
= (t+10)
= Y2130t +100 — (B
Eq;m‘rina NORXE)
a0k = £+ 80t +100.
£> ~aot +100 = ©.
b =1osec.
10.a. State MNewlons second lavw & D'oldmbesd s

P"rinc:p\e :

Newolons second law :

The ~ale dD c\womae c?) mMomentum 18

di"recHnd proportional o e impressed force and
tokes pPloce i Jhe Same diechon in which the

force acts.
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10.b

D "Blerobest p*rir)c_;P\e :
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10. c.

Ansg.

A caun thcvenmg ak a Speeo\ C?D 75 km ph CLPP\L‘E’S.
broke & comesto a halt oftes Skiddma 8Om.

Determine -
i Decelezation N
iy Time 70 8+OP'H’)€ cas
Tihe Co%:c;er)‘r c!) Prichon between voad &%&frez.

u =75 kmph = 20-23m]s.
9 = O
S = 6cOM.

wl= U2+ as .
o = 2083+ ala)(60)

o= —3-6lm|s*
W:U"‘CL%
E=5-77s
:J’;‘_—x,g,@)
F 98)
‘6]
o = AN x 3
q-2).
= 0-38.
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